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2008H1E = 2 5| UbHs|d)
A B0 R 2l Dt
HEDMOIE BIAMHIA HB
S1o|:DMOIE DIAMHIA T (tol:He)
SNBSS - MRAY - LS 0l & o4 plEE HRE2
1,380,096 1,222,868 157,228
=2 345,599 112,000 233,509
Zsrolix el ot
= 105,200 105,200 0
Al 929,297 1,005,668 ~76,371
1,148,789 959,031 189,758
DHOIE BB~ HE =2 345,599 112,000 233,599
= 105,200 105,200 0
Al 697,990 741,831 £43,841
183,348 110,709 72,639
DAOLE DIAMYIA R =2 72,000 0 72,000
Al 111,348 110,709 639
DUOIE HH D 87,782 77,608 10,174
201 YEt2 Y| 48,742 43,620 5,122
01 At 2teld| 44,746 37,940 6,806
I, QUSRI (0lAEY) 15,806 9,000 6,806
O SIYHY QHAMK 22t 2% 1,806,0002 1,806 5,000 ~3,194
O A HyY 2= 10,000,008 * 14! 10,000 0 10,000
02 IB=2YY| 3,99 5,680 A1,684
3. ANEEHISH( A=) 3,99 5,680 A1,684
O sEga723)| NS4 23 1,516,0009 1,516 3,200 A1,684
202 01| 11,690 12,988 A1,298
01 2UoiHI 11,690 12,988 A1,298
[ DWOIEAIR 22 HEX ASH(OAEY) 23 5,090,0009 5,090 6,388 ~1,298
207 12K Y| 4,500 5,000 A500
01 elmE eyl 4,500 5,000 A500
[ ZOIGNSTEA S (ML) 2 4,500,0009 4,500 5,000 A500
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el DAOIE DI MHIA M (St ®el)
SN HE L SR(SIH) - MBAY - BAS 0l &k 24 o1& o HlnE2

301 2BrEAs 4,050 4,500 A450

10 SAHAHI 242 4,050 4,500 A450

[ ®MSEECEAR AHIBA(HAE) 233 950,008 950 1,400 A450

401 A& HIQ 20| 17,300 10,000 7,300

04 A& 17,300 10,000 7,300

(] SIRIAl QHLYRMEF FHI (O &R ) 23 9,800,0002 9,800 10,000 A200

0 elgal #201300| (ATX) 7,500,008 * 14! 7,500 0 7,500

DIRSYZRR Szl 13,206 22,741 £9,53

201 B2yl 8,465 18,000 £9,53

01 AtRZ2IH] 8,465 18,000 £9,535

I, LB (0 AR ) 8,465 18,000 £9,535

O BIRAREE HE 2= 2,765,000 2,765 10,000 A7,235

O BIRAFRUEIEO| 2t 2= 2,700,0002 2,700 5,000 A2,300

N 72,000 0 72,000

=2 72,000 0 72,000

01 oot 12,502 0 2,502

2 12,502 0 12,502

10 JAH22ASEL 12,502 0 12,502

EREEIVED 12,502 0 12,502

O ciagz 2xo=y 12,502 0 12,502

o223 30,0009 * 2% * 1502 9,000 0 9,000

2 9,000 0 9,000

zE4Y 30,0002 * 2% * 282 1,680 0 1,680

2 1,680 0 1,680

o1 X} & 30,0002 * 2% * 62 360 0 360
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CHe: DMOLE DIAHIA RS (el &)
A -3 -H2A(SH) - HEAMY - BES Off &K ) = e Hlns2t

= 360 0 360

Azt 2244 5,620% * 2% * 1302 1,462 0 1,462

= 1,462 0 1,462

201 AerS oty 43,918 0 43,918

= 43,918 0 43,918

01 At222|H| 43,918 0 43,918

[2DEXAY] 0 0 0

1. der2y| 39,718 0 39,718

O ANSRERE L 2ZE S 100,000 * 108 6,000 0 6,000

= 6,000 0 6,000

O AT 2BFYI (3 2,400 0 2,400

= 2,400 0 2,400

O #FEH RAHI(Z 500,000 * 5% 15,000 0 15,000

= 15,000 0 15,000

O AU S M4 16,318,000 * 14! 16,318 0 16,318

= 16,318 0 16,318

5. 2l 4,200 0 4,200

O oALSAR S 7,000 * 4% « 4,200 0 4,200

= 4,200 0 4,200

202 Ol 15,580 0 15,580

= 15,580 0 15,580

01 2U0idl 15,580 0 15,580

[2DEXAY] 15,580 0 15,580

O AL =& 20,0002 * 4% « 8,000 0 8,000

= 8,000 0 8,000
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SH-EH . C(BH) - NRAY - BES 0 k4 713 o CpmE=FT

SICEEEFE 75,8008 * 4% * 252 7,580 0 7,580

2 7,580 0 7,580

90,693 13,437 77,256

SMBRO B M 2 78,599 0 78,599

Al 12,004 13,437 £1,343

sNZ=o el HH 12,004 13,437 £1,343

201 28r2 | 1,800 2,000 A200

01 AR 22l 1,800 2,000 A200

5. SHI(0aE) 1,800 2,000 A200

O SX3RIe IAUMI 2 1,800,002 1,800 2,000 A200

202 01 bl 5,79 6,437 2643

01 =Uolbl 5,794 6,437 2643

0 SX3L NS (HaE) 2 3,997,002 3,997 4,640 £643

401 AlSHIL 2T 4,500 5,000 A500

04 Al 4,500 5,000 A500

[ SHILSVE M= X (HLED) A 4,500,009 4,500 5,000 A500

S 78,599 0 78,599

2 78,599 0 78,599

201 St ot 53,119 0 53,119

2 53,119 0 53, 119

01 AR 22l 53,119 0 53,119

ERCEIL] 0 0 0

I ypr2gl 30,503 0 30,503

O IEMELR AREE L £2E 2 100,000 * 8% 43| 3,200 0 3,200

2 3,200 0 3,200

O #IFY SN (ZRED| S) 500,00020 * 4% * 23l 4,000 0 4,000
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cel:sA S48 (el d @)
SN EM . SR(EH) - MEAMY - BES 0l &t SIEL HlRs2

= 4,000 0 4,000

O IIEHAHEE MARQ(EE) 2,978,000& = 14 2,978 0 2,978

= 2,978 0 2,978

O IIENMEESEYR SHIA(BHSH) 20,325,000& » 14 20,325 0 20,325

= 20,325 0 20,325

5. =&l 22,616 0 22,616

O IEHHSELR S4HS 7,000 * 4% * 118 3,304 0 3,304

= 3,304 0 3,304

O SEIEXN gRFH 7,0008 * 498 « 110 3,080 0 3,080

= 3,080 0 3,080

O II=HHEEYR SHIA(BHSH) 16,232,000& * 14 16,232 0 16,232

= 16,232 0 16,232

202 OfH| 25,480 0 25,480

= 25,480 0 25,480

01 =UWoibl 25,480 0 25,480

(208 XAE] 25,480 0 25,480

O ISHHSELRFA 20,0003 * 4% 60 4,800 0 4,800

= 4,800 0 4,800

O S8JI&EXN S =g =24 20,000 * 4H = 58 4,640 0 4,640

= 4,640 0 4,640

O INEZHEELR SHNA(15HMSH) 16,040,000& = 14 16,040 0 16,040

= 16,040 0 16,040

436,268 410,275 25,993

K=HEY 2alzd YD = 125,000 42,000 83,000

= 56,200 56,200 0
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CHR X MY BAl (St A Q)
SH-EFH - HA(FAH) - NRAE - BES O Ak OH &< HunsZ
XESH B4l M2 Al 255,068 312,075 ~57,007
ANEBL 22| A Y 10,220 11,775 A 1,555
201 LBt HH| 3,020 3,775 NAT55
01 AFR22lHl 3,020 3,775 NAT55
1. YBHEZ2HI(0lat=2) 3,020 3,775 AT755
O XN=E=ZZUE ol FH 895,000 895 1,650 AT55
202 Ol 7,200 8,000 A 800
01 2UcbI 7,200 8,000 800
O NESSEHITAHO AR Z3H 2,700,000& 2,700 3,500 A800
132,548 105,000 27,548
XNEBAHHHIA = 125,000 42,000 83,000
Al 7,548 63,000 N55,452
0 5,452 A5,452
201 LBt HH| = 0 2,000 A2,000
Al 0 3,452 A3,452
01 AFR22ldl 0 5,452 N5,452
[2DEEAY] 0 0 0
1. Yet=EH[(MH2) 0 5,452 N5,452
O E2H X & AZ2E 3¢ 3 02 0 5,452 A5,452
=2 0 2,000 A2,000
Al 0 3,452 N3,452
7,548 9,548 A2,000
202 Ol = 0 2,000 A2,000
Al 7,548 7,548 0
01 ZUobl 7,548 9,548 A2,000
[2DEEAY] 7,548 9,548 A2,000




SNSRI D
HB:DABLE IR MHIA KB

Cel XY B FD (55 )

SN H - SR(SH) - MM & o 52

SEEEEET] 23 4,000,000 4,000 5,000 21,000

2 0 1,000 A1,000

Al 4,000 4,000 0

O N=AH I 2% 3,548,009 3,548 4,548 A1,000

= 0 1,000 A1,000

Al 3,548 3,548 0

125,000 90,000 35,000

401 Al&H L2 OHHI 2 125,000 38,000 87,000

Al 0 52,000 A52,000

04 Al 124,100 90,000 34,100

ERCEIE] 124,100 90,000 34,100

O SZHl(Ha A 124,100,000 124,100 90,000 34,100

2 124,100 38,000 86,100

Al 0 52,000 A52,000

06 Al&SCH] 900 0 900

ERCEIL] 900 0 900

O =zl 2yl 125,000,008 * 0.72/100 900 0 900

= 900 0 900

ASHT FONZT By 58,065 39,836 18,229

A=0IR 20N 2Y 6.068 6,520 2452

202 01| 4,068 4,520 £ 452

01 =Uotbl 4,068 4,520 £ 452

O ASSOHE LRI & 2 1,468,002 1,468 1,920 £452

pElgs =golR e 26,997 33,316 £6,319

201 Lt 15,940 19,920 3,980




SN EeArel
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CHOASSA FolA e Bty (Chol:&Me)
S ZH L HRA(BH) - HRAY - BES Off & o4 Il & et HRE2
01 AtR22IH| 15,940 19,920 3,980
1. LB AH|(0f AR 8,320 10,300 A 1,980
O =2S0AAREHY H A 2 A 7,520,000 7,520 9,500 A 1,980
3. 2L (0AEY) 2,620 4,620 A2,000
O A=A &ALy 2A 2,620,000 2,620 4,620 A2,000
202 01t 7,557 8,396 A839
01 ZUHoiHI 7,557 8,396 839
[ SS0I5JF SEIA L ZAIZS(HAEZ) 23 5,161,000 5,161 6,000 839
405 Xt AEE S| 3,500 5,000 A1,500
01 XML ESEFHSH 3,500 5,000 A1,500
(] CAD T2 J(0fAE2) 23 3,500,000 3,500 5,000 A 1,500
AE20UE JIZNE HUIALY 25,000 0 25,000
308 XHXIESHHISOIA 25,000 0 25,000
08 JlEtRE2 25,000 0 25,000
O AESUE JIZNE FHAY 25,000,0008 * 14l 25,000 0 25,000
380,415 384,774 A4,359
SSAMME HOIMHIA 25 = 70,000 70,000 0
[ 49,000 49,000 0
Al 261,415 265,774 A4,359
EXN NGO 4R HA 22,531 26,890 A4,359
201 LBr2 A H| 5,280 6,100 A820
01 AtR22H| 5,280 6,100 A820
1. LB AH|(0f AR 2L 1,680 2,100 A420
O EXNAUGI AHEAL 65 HAREl 23 1,680,000 1,680 2,100 A420
5. SHI(0lAHE ) 3,600 4,000 A400




FANSEUAX L
2 DAok= QI MEIA K3
Ce RSl d O A st (2 &)
SN -3 S2ARAH) - MFAY - BES Ofl &k oK IEH BlusZ
O EXJcH5ot 2= SAMS d4d 3,600,000 3,600 4,000 A400
202 014l 11,601 12,890 A 1,289
01 =LHOIHI 11,601 12,890 21,289
O EXAHHSIL Ar=AE S EZAH(O&HE d4d 6,411,000& 6,411 7,700 21,289
301 et a3 5,250 7,500 A2,250
12 JIEt2a= 5,250 7,500 A2,250
O EXAAHEI 2aZ(0laE2) d4d 5,250,000 5,250 7,500 A2,250
dY2IPHI(SaXelD) 231,307 263,837 232,530
el =g 131,000 154,608 23,608
A2 (S ™elN) 131,000 154,608 A23,608
101 21244 125,000 148,608 A23,608
02 =& 125,000 148,608 223,608
1. Zo2esg(0az) 125,000 148,608 223,608
O AZeAZ2esE 34 125,000,000 125,000 148,608 A 23,608
JlE3H 100,307 109,229 A8B,922
Jl=3H(Seeixell) 100,307 109,229 A8,922
201 EHER S 96,058 104,508 A8,450
01 At=2telbl 67,161 74,623 AT ,462
1. der==ZHI (M= 2 65,961 73,423 AT ,462
O UALZEXN 2L 448 32,538,000& 32,538 40,000 AT ,462
02 5523l 28,897 29,885 988
1. 3323 & MAI(0&EZ) 28,897 29,885 988
O Bge32a SHItY 33 4,877,000 4,877 5,865 1988
202 01| 4,249 4,721 A472
01 =LHOIHI 4,249 4,721 NAT72
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